
 
 
  Lesson 7 Sprint  MATHEMATICS CURRICULUM 5•2 

 



 
 
  Lesson 7 Sprint  MATHEMATICS CURRICULUM 5•2 

 

 

Name              Date       



 
 
  Lesson 7 Problem Set MATHEMATICS CURRICULUM 5•2 

1. Draw an area model, and then solve using the standard algorithm.  Use arrows to match the partial 

products from the area model to the partial products in the algorithm. 

 

a. 481 × 352      4 8 1 

      ×  3 5 2 

 

 

 

 

b. 481 × 302 

4 8 1 

             ×  3 0 2 

 

 

c. Both 1(a) and 1(b) have three-digit multipliers.  Why are there three partial products in 1(a) and only 

two partial products in 1(b)? 

 

 

 



 
 
  Lesson 7 Problem Set MATHEMATICS CURRICULUM 5•2 

2. Solve by drawing the area model and using the standard algorithm. 

a. 8,401 × 305      8, 4 0 1 

             ×   3 0 5 

 

 

b. 7,481 × 350      7, 4 8 1 

         ×   3 5 0 

 

 

 

3. Solve using the standard algorithm. 

a. 346 × 27 

 

 

b. 1,346 × 297 

c. 346 × 207 

 

 

d. 1,346 × 207 

 

 



 
 
  Lesson 7 Problem Set MATHEMATICS CURRICULUM 5•2 

4. A school district purchased 615 new laptops for their mobile labs.  Each computer cost $409.  What’s the 

total cost for all of the laptops? 

 

 

 

 

 

 

5. A publisher prints 1,512 copies of a book in each print run.  If they print 305 runs, how many books will be 

printed? 

 

 

 

 

 

 

6. As of the 2010 census, there were 3,669 people living in Marlboro, New York.  Brooklyn, New York, has 

681 times as many people.  How many more people live in Brooklyn than in Marlboro? 

 

 

 

 

 

 



 
 
  Lesson 7 Exit Ticket  MATHEMATICS CURRICULUM 5•2 

Name              Date       

1. Draw an area model, and then solve using the standard algorithm. 

 

a. 642 × 257 = ____________________   6 4 2 

     ×   2 5 7 

 

 

 

 

 

 

b. 642 × 207 = ____________________   6 4 2 

     ×   2 0 7 
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Name              Date       

1. Draw an area model, and then solve using the standard algorithm.  Use arrows to match the partial 

products from your area model to the partial products in your algorithm. 

 

a. 273 × 346 = ________________     2 7 3 

       ×   3 4 6 

 

 

 

 

 

b. 273 × 306 = ________________     2 7 3 

     ×   3 0 6 

 

 

 

c. Both Parts (a) and (b) have three-digit multipliers.  Why are there three partial products in (a) and 

only two partial products in (b)? 
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2. Solve by drawing the area model and using the standard algorithm.

a. 7,481 × 290 = __________________ b. 7,018 × 209 = _________________ 

 

 

 

 

3. Solve using the standard algorithm.

a. 426 × 357 

 

b. 1,426 × 357 

c. 426 × 307 

 

d. 1,426 × 307 

 

 

4. The Hudson Valley Renegades Stadium holds a maximum of 4,505 people.  During the heights of their 

popularity, they sold out 219 consecutive games.  How many tickets were sold during this time? 

 

 

 

 

5. At the farmer’s market, each of the 94 vendors makes $502 in profit each weekend.  How much profit will 

all vendors make on Saturday? 


